Orgamc Chemxstry Rcvzew

Determme which word fits the following definitions best. Unscramble the circled
;) etters in each of the answers to solve: the puzzle. -

1. Orgamc compound contammg a carbon- carbon double bond. *f}t LK. @‘;&Q

2. Orgamc compeund that contams double or tr:sp}e carbon carbon boncis
MHSATUEATED COMBo unD (2 words)

3. Organic compound contmmng a carbon ca:bon tnple bond. ALy 3;&@

4. Compound that has the same molecular formula as. another compaund but a
different molecular structure. § £ i 3]

5. A method of naming organic compounds. ) LUpA C Sé ¥ <pem

6. Hydrocarbon that contains only smgle covalent bonds AL LARE
7. Any organic compound that contains only carbon and. hydrogen H\{.E L QALBe /5;
8. A saturated continuous-chain hydrocarbon with seven carbons. He Ak i £ |

- 9. All combustion reactxons of hydmcarbons produces wlater and
(- ca &&Q M2 2X)e T (2 words). : :

-0

“10.  An alkane ring with the molecular formuila C,H, LY CLOBURANE

Puzzle: I you're not part of the solution you must be part of the

Cirele and name one of the functional group(s) in:
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How many bonds does catbon [c:rm? Does this molecule, R, Seem {0

obey that rale? What moleenle is this?
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Provide correct TUPAC names for the following compounds:
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- What twe aioms make up a bydrocarbon?
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Which atom has the unique ability to bond to itself formmg long chains and to bond to

other atoms'? C & v Qﬁ!’/\
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 Name the typé of mo}ecule each organic compound is (look at their
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I. How do structural formulas differ from molecular formulas?
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2. Explain why hydrocarbons with only single bonds cannot form geometric isomers.
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3. What is the difference between aldehydes and ketones?
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4. Each of the following names implies a structure but is not a correct IUPAC name.
For each example, draw the implied structural formula and write the correct

[UPAC name.
a. 3-bromopropane % v
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b. 3, 4-dichloro-4-pentene ¢
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5. For the functional groups, [ist a property or use of each

6. Draw and name the isomers of CgHyy
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